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15 DATA 1250.120.33

20 W1=(1500/60)%2%3. 14159

25 DIM P1(N)»F1(N)>P2(N)> F2(N)>W2(N)>,E2(N), S(N)>
VC(N)s AC(N)

30 FOR J=0 To. 360 STEP 30

35 P1C1/30)=1

40 NEXT ]

45 R=L1/L2

50 FOR I=0 To N

55 F1(I)=P1( I)%3.141597180

60 K=Rx SIN(F1(I))

65 F2( 1)=ATN(K/SQR(1-KxK))

70 P2(I1)=F2( 1)%180/3.14159

76 IF P2(I)>0 THEN 85

80 P2(1)=360+P2( 1)

85 W2 ( I)=—(RW1kCOS(F1(1)N COS(F2( )

90 E2( D= (RW1A2x (1 -RA2)% SIN(F1(1)))/((COS(F2
(A3

95 SC(I)=L1%k(1-COS(F1(I)))+L2%(1-COS(F2(I)))

100 VC(I)=(L1%kW1xSIN(F1(I)-F2(1)))/COS(F2( 1))

105 A=L1kW1A 2% Rk((COS(F1(1)))A2)/((COSCF2( 1)))HA
3)

110 AC(IY=(L1kW1M 2% COSC(F1(I1)-F2(1)))/COS(F2(1))
+A

115 NEXT 1

120 PRINT “P1(I)”s "P2(I)"s Wa(I)"”

125 FOR 1I=0 To N

130 PRINT P1(IdsP2(I1)sW2(1I)

135 NEXT I '

136 PRINT “E2(I1)”,”SCI1)"”

137 FOR I=0 To N

138 PRINT E2(1I)sSCD)

139 NEXT 1

140 PRINT *VC(I) " "AC(CI)"”

141 FOR I=0 TO N

142 PRINT VC(I)sACC(CI)



143 NEXT 1

144 PRINT

145 PRINT”S-P1 ”»

146 FOR J=0 TO 360 STEP 390
150 I=1/30

155 PRINT 1

160 PRINT TAB(25+90%SCI));”k”
165 NEXT 17

168 PRINT

169 PRINT 7VC-Py~” _
170 FOR J=0 TO 360 STEP 30
175 1=1/30

180 PRINT

185 PRINT TAB(25+VC(I)); #”
190 NEXT 1]

193 PRINT

194 PRINT 7YAC-P1~”

195 FOR 1J=0 TO 360 STEP 3¢
200 I=1/30

205 PRINT 171

210 PRINT TAB(25+005%AC(I)); "
215 NEXT J ‘

220 END

RUN

P1CD) P2( 1) Wa( D)

0 360 - 47.599 85

30 351.2853 -41.70416

60 344. 7856 ~24.66443

90 £42.3603 -6.33141E-05
120 344.7856 24. 66433
150 351.2852 41.70411
180 360 47.59985
210 8.714704 41.70422
240 15. 2144 24. 66453
270 17. 63972 1. 899423E-04
300 15. 21446 ~24.66424
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-6545.009
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-5.768787
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3215. 093
2528.374

86 0. 6022
—-784. 5834
-1606. 796
-1745. 284
-1719.701
—-1745. 284
-1606. 8
~784.596
860.586
2528. 36
3215. 093
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Li= 1, AR=aTcg c,
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5 REM Kinematic Analysis for the Guide Bar

mechanism

10 READ NsLisL2-W2

15 DATA 1250.1220.06°30

20 DIM P2(N)»> F2(N)» P4(N) s FA(N) sW4(N) sE4(N) >
S(N)» VR(N)» AR(N)

25 FOR J=0 TO 360 STEP 30

30 F2(1/780)>=1

35 NEXT J

40 FOR 1I=9 TO N

45 F2(1)=P2( 1)%3.14159/180

50 IF F2(1)=3.1415972 THEN 85

55 IF F2(1)=83%3.1415972 THEN 85

60 F4(I)=ATN((L1+L2%SIN(CF2(1)))>/(L2kCOS(F2(I)
)

65 IF F2(1)<8.14159/72 THEN 87

70 IF F2(1)>3%3.1415972 THEN 87

75 F4(1)=3.14159-ABS(F4(1I))

80 GOTO 87

85 F4(1)=3.14159/2

87 P4(I1)=F4(1)%180/3. 14159

90 SCI)=SQR(LiA2+L2MAo+2xL1kLakSIN(F2(¢I1)))

95 W4 (I)=(L2gW2xxCOS(F2( D-F4(CI)))>/SCD)



100 VR(CI)=—-(L2KkW 2k SIN(F2 (I)-F4(1)))

105 E4(I)=-((2kVRCI)¥W4( 1) +L2sxW2A 2 SIN(F2 (1)-F4
CIY/SCIM '

110 ARCI)=(SCDDXxW4CI)$W4 (1))~ (L2xW2xW2xCO SC F2( I)
-F4( D))

111 NFXT 1

115 PRINT “P2(CI)7, "P4CI) "> "W4q(I)"”

120 FOR I=¢9 TO N

125 PRINT P2(I)s P4(I1)-W4(CI)

130 NEXT 1

135 PRINT "E4(CI)"," SCDDF

140 FOR I=0 TO N

145 PRINT E4(CI)s SCI)

150 NEXT 1

155 PRINT "VR(CI)"s"AR(CI)"

160 FOR I=0 TO N

165 PRINT VR(I)sAR(CI)

170 NEXT 1

RUN

Pa2(I) P4aC 1) W4C 1)

0 63. 4350024 5.9990998999

30 70. 8934472 8.57142723

60 80.1039607 9.68342756

90 90. 0000507 10

120 99. 8959903 9.683421438

150 109. 106509 8.57141592

180 116.564967 5.99998728

210 119. 999949 7.67754705E-05
240 113.794018 -14.2987301
270 .90 30

300 66.2061997 —14.298982

330 60.0000506 -8.42760358E-05
360 63.4349416 5. 9999618
E4CD) ’ SCI)

216 ~134164079

95. 4395998 - 158745061
37.6879811 . 174558757



8.84745425E-05 .18

-37.6881005 . 174558811
-95. 4397883 - 158745166
-216.000133 -134164221
—-519.614048 .103923234
~1144.55688 .0743589919

-7.16310521E-03
1144.56503

.0600000001
.0743586065

519.619621 . 103922757
216.001834 . 134163794

VR( 1) ARC D)
1.60996894 -19.3196273
1.17837703 -29.1572533

. 618703797 -34.3416524

1. 59254177E-06 -36
-0.618705244 -34.341652
-1.17837807 -29.1572495
-1.60996937 -19.3196171
-1.8 -2.39362595E-05
-1.45241953 47. 1001445
-4.77540349E- 06 108

1. 45240986 47. 1009977

1.8 2.62746677E-04
1.60997236 —19.3194941
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